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BECE (SC) 2024
MATHEMATICS 2
2+
=620+ 4+1 ' M1 for sum of whole numbers,
. | common denominator (CD) and
"~ Tone numerator correci’
=620 +-—m"

| Al for correct area
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Area of Roads and Walkways = 900 % = 620% | M1 for subtracting
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BECE (SC) 2024
MATHEMATICS 2
QUE. SOLUTION ) i
NO. i
! 6. (a)
207 ) 5 10 15 20 % o I B4 (-1 ee) for correct |

Railise32 68 @ entries

(b) See attached graph

Horizontal and vertical axes— r Bl B1 (_ % ee)

S AT el R B4 (—%ee) for correct

i‘ points

|

’ Joining of points B1 for joining all points

LPlatlingrofipomisT Seeil o S e

with a straight line

1
; evrr, SC@L\ nlvval
i

(©) From the graph, when °F = 55, & M1 for evidence of
reading from the graph
£C="12.75 £ 05 Al for answer

If °C changes by 5 units, °F would change by 9 units. =~ —— M1 for use of 5 for A°C

—

OR or 9 for A°F or finding
(@) If °C changes by 1 unit, °F would change by g or 1.8 units. slope
| OR
If °C changes by 1%, °F would change by 1.8%.
OR

____— | Al for any one correct

The rate of change of °F due to a change in °C is gor 1.8.
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